20224 FAKRFAMHAERR [ BZE ] BEH

1

(2% )

(1) a, b, cZ 0 LA LDESE LT

l=2a+1, m=20+1, n=2c+1
LB L, &M

Itm+n=99<=a+b+c=48

50549 — 19295

" N=3Hg=5Cyu=
2) () YEBNT, a=b=crF5L
(a, b, ¢) = (16, 16, 16)
(i) a=bxck¥3L
(a, b, c) =(0, 0, 48), (1, 1, 46), ---, (24, 24, 0)
() PEEERCT2UEIDHY, TNENI BV TobD I L b

24-3=T7218
Th 3,

(). (i) ZEbE¥ETI+12=13/TH 2,
(3) K=3,5790LE, zhzh

N=1, 3, 6, 10
5T N>K ERBBADKIZITHS,

© CAPRIIFRE®R



202 2% HALKFHBEERER [ % ) @246

2

() 0<t<1,08z<1 DL x

_ ) 2-2 (0L
t 1
. _ 2 _ .2 2 2\ g
..F(t)—/o(t :p)d:v+/t(m t°) dz

39t 3 i
= [a- 2] 4 [Z - 2]

3 Jo 3 t
20 5)+ (3-7)
—%t3—t2+%

(2) 0<t<1DEX, (1) &V
F/(t) = 4t? — 2t = 2t(2t — 1)
t21DEE
1 391
- 2_ .2 2, _ 2] 21
F(t)—/o(t x)d:z:-[t:z: 3]0—15 3
LD F(t) IXEFEMERS, koT, t2 0BT AEEHIIKOEY,

t [0 ... % 1
F'(1) - 0 + +
Fty | 5 / /

1 1 1
T=5 F(3)=1

© CAPEIITRER



20224 FIRFrHAERAR[ K% ] &E6

3

(1) a>0,5>04%Yv, & DI

2 2—a

L >3 4y=2"9

g =Y b
IZT. a2+ =1La+26=2DKEX

41-b)2+b2 =152 -8+3=(b—1)(50—-3)=0

a, (4 3)
ThHH, ROFBRBIZD, 12720, ot b, bE EOERIIEET. hoOEREZ ST,

[

22<=a?+b°<1, a+26<2

N

2) 3a+2b=k<=>b=—%a+§ LE<, . a2+ =1L0 (% %) B

i AERIT . 5
fa+3h=5>b=—-Ta+ 3

--;’-<—%Qtto\ BKIE3a+2=k&a?+b=18ETELEThE, HA

1. 20-3b=0+ a2+ B2 =1DFAD> HLE 1 BRO AT
3 2
b) = [ ——, —==) T. B&KXIHE V13
(a, 8) (\/13 \/13) =

© CAPEiIIFE®R



2022%F FIKRFRHAERR [ &% ] BEH

4

—
(1) OH =(a, b, ¢) (a > 0) XK,
—
OH|=1&9, ?+02+2=1...0
—
(ﬁOH=a+\/§b+\/§c=O®
- —
OBOH=—\/§a+C=O.®
@, ®&bY, b=-2v2a,c=+v3a EOQIZRALT,

12¢2 =1 & 9, a=—\é—§<‘:7§:b, (_)I—)-I (?,—ia‘%‘

3
(2) kDZBEME b 2B, h=|00. onl:% \/€+% i: 2.2
(3) AOAB OER S iz,
s=1|oA[|o8" - 04 - 0By = ve

EoT, ROBERV L, V= %Sh: %\/5

© CAPKIIFER



